IES IR : ShERRS JEHRES: 002191 NEHRS: 2022-054

A ERERBBIRLF

RTREBSBRBBRERERROAE

E AT RGREFRE PRSI EFREERARIEATNEEE. EFHNTE,
BHARBRIEER. REEHRRERER. BREAAEKEZH, AFRNET
B TREREAENEFEE. HHMTEBMAERCHHA.

W s BB AR AR CRUN RAR<A =] s S5 Bt ™) 1202244 1
26 H 42 2 2 w2 BB R IR T 257 BB A PR A =] (UM fifR 237 808, A
A7 22 7] 463,089,700/, 15 2 ] IS AR [1131.48% ) 2K+ 18 73 B ik ok Jo 4 % it
EU N OpGIPIR

= BERGERERRERNERER

1y AU A Bk A B A1

TENER | preem -
Weg | Mekets— | MR o | VDR mame | om0
R | RBREIE | Py g™ | Rl | S & H W H -
—BUTHA -
W AR 17
I L 2021 £ 2022 & N L=
o FE 12,070,000 2.61% 0.82% 5H7H | 45250 ﬁj\jﬁl@%?
BN AT
&t - 12,070,000 2.61% 0.82% - - -

2 AR Jo A B

b st | o | e | 0
AR | B AR B — ﬁ@ﬁﬁ %@%f%ﬁiﬁﬁ AN | AR A 2 RN ﬁﬁ
i) e\ SR G o en | | TR g
—HTE i
sl ) 12,070,000 |2.61% | 0.82% | 7 | 7 |4 3 25| O I mh
ks g | >h waliRyl
AT
Eann - 12,070,000 | 2.61% | 0.82%

3. ROy R E AT D

Parand

R MR ER I3 T AR o B S5 ) 2 1R



WEXGTWEEH, SRR BT NP B RS oLk .

LR | AR 4
B B
RN A LN I N SV =V YA Y
B | REIRSCR | FER PR TR | IR | S| S| 9
SF | OB\ GRTRR S | e | g
& | & 0D PR | VRah | IR | g
ety | EH | ety | Bt
HOR | MR | BOR | SR
;ﬁ 463,089,709| 31.48%| 286,970,000( 286,970,000|61.97%|19.51% 0 0 0 0
X
4 . %l 2.58
i 39,450,000 2.68%| 38,000,000 38,000,000(96.32%)| 2.58% 0 0 0 0
&t 502,539,709| 34.17%| 324,970,000 324,970,000{64.67%|22.09% 0 0 0 0
4, W R RE—BAT SN o i

(1) TR AN K A AH B KB 7 B AL ST 55

(2) SRR Bt Ak BT A S 2 B A m) AP 2B MR K

(3) L2022 ¢ 4 F 25 Hila5E, SR I —BUTsh AARKFEEAA—
A A B R T B BB SARBOBOR SO BT A N B e
2 A AS LU Xk LR BE AR AU R R s

B i I I AR e e —
I 5 (g _ A S L .
i B @J\ﬁﬁ ?,/JETHHH%{JJ - HATEN N FTRE A ﬁ A X MR RE (o)
WHE (B R A L A1)
Eb. 1
R FEN 249,900,000 49.73% 16.99% 2,390,190,000
AR—EN 324,970,000 64.67% 22.09% 3,530,185,000

(4) PR P e — BTN S A N 1 58 e T e e H 4
BB ETR. ERRARAR - SUTI AR EREI R, HE N2 RE

(5) PR S H— BT AAFAE AR E T e S . R IR AR 3
BT w A T .

(6) MBI A L AT EEW S FFELEf A R, &
JRAR I A MRS T 3%, AN S BN A SRR BUR AT, R AR AE
I A G EAE TS T AN 2 A E AN .

R MR ER I3 T AR o B S5 ) 2




= A
IR S 60 S IR AR 2 RIS 24 7 e VR 4 AR

Rl /A

BRIz B e tn A IR A 7
HHEE

R MR ER I3 T AR o B S5 ) 2 H3 W



